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Question Number : 12 Question Id : 469750912

Ifa* = a,b¥ =c,c® = a,then xyz is equal to:

a® = a,b? =c,c% = a 03T, eNO XYz HDS HaAFDo:
Answer:

Deleted

Question Number : 56 Question Id : 469750956

The function fix) = x? is:
f(x) = x* eszdd Ppavodo:
Answer:

Deleted
Question Number : 93 Question Id : 469750993

Find the sum of the numbers less than 100 which are common multiples of 3 and 4.

3 S0805» 4 030E), FrarRy edaren ediyerndotd 100 S77) S5 Voo VT SAOFJod.
Answer:

Deleted

Question Number : 119 Question Id : 4697501019

If one root of x* + Ix + 12 = 0 is 2 while the equation x* + bx + m = 0 has equal roots, then find the value of m .
X% +bx+m =0 2200 awresne 98, X2 +1x+12=0 D08, 25°SE QTN 2 oNJS, M Dend
S0 dock.

Answer:

Deleted

Question Number : 141 Question Id : 4697501041

If in a frequency distribution, the mean and median are 21 and 22 respectively, then its mode is approximately:

@*’a@a5 DeandesS’, DT BOID D0EIB0 HHIMT 21 SDBOID 22 900B, TP EFTVTEDIN DT ETT:

Answer:

Deleted






